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10. Looking at the picture on the right, what is the perimeter of the

parallelogram in square centimeters? (A)40 cm (B)42 cm (C)44 cm t2em
(D)46cm

<fZ$7>

12x6=9x[ |

=8

(124+8)x2=40 » & A -

11. #+ B= fﬁl}ﬂﬁviﬁ?r&{u DAANEI: [N
(A)174 (B)184 (©)192 (D)162

<jiz 45>

I
d
N
A
9
F
bl
flm
A\
v
22
~D

12x4=48
48x4=192
#FC-

12. % NtN=MtMtMtM > Bl===2 (A)1 (B)2 (C)3 (D)4

<fiz 45>
N+AN=M+M+M+M — N=M+M

MAMAM
F = =353 Co
SR YIyY =

)
Pl
:\ \:‘;-n_‘_
|

I

1=

' 2 15 3 K

NN
-t ot

\ ~
-~9
|~
-
~
| O
\®)
o~
SNy
R
() 020]
TN
@)
~
O
I
~
o
~
oo
=
".“'_"1\‘*\

N

\ AN ANYA
AN AN NN

(N |/‘A\‘ (" .‘ ‘ ()
L ./ L ) .

OO0
(Bl-) (Bl=)

<ﬁzv}fr>

- 3E & F =6+2=8

- 34 3 =1242=14
5 -3ELT > 5 14-8=6
215 3 £ 3 =8+(15-1)x6=8+84=92 » i A -

v A& A6 E &)
Taiwan Preliminary (Grade 6)



14. The picture on the right is an expanded view of a cuboid
carton. The surface area of the carton is 310 cm?. What is the
length of this cuboid carton? (A)10 cm (B)11 cm (C)12 cm S e
(D)13 cm 3 em
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21. If a=9874x9877, b=9875x9876, which of the following is correct?
(A)a>b (B)a<b  (C)a=b (D)b-a=3
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